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| Directions: For question 61 -70, select the number of the answer ch

you

PART A: Grammar and Vocabulary

(3), or (4) that best completes the blank irn the SJollowing sentences. Then mark |
r answer on your answer choice,

The whole problem might be solved if countries ---e-e-cec-e GM crops could simply opt out
of the legislation.

1) oppose 2) are opposed to 3) opposed to 4) which they oppose
Placoderms are extinct jawed fishes that lived from -----ceeeese to the end of the Devonian
360 million years ago. ]

1) 430 millions years ago approximately 2) approximately 430 millions of years ago

3) 430 million approximately years ago 4) approximately 430 million years ago

It is not surprising that Kim’s prodigious memory caught the attention of writer Barry
Morrow at a chance meeting in 1984 ----eeee--- the screenplay for Rain Man, whose main
character, Raymond Babbitt, is a savant played by Dustin Hoffman. :

1) and inspired him to write 2) that it inspired him to write

3) which he inspired to write 4) inspired him to write

Hoping to save labor costs, =w—mesmeum .

1) automobile manufacturers’ robots want to replace assembly line workers

2) automobile manufacturers want to replace assembly line workers with robots

3) robots , automobile manufacturers believe, can replace assembly line workers with

4) assembly lines planned by automobile manufacturers would use robots to replace workers
storm moved directly over the island, =--w=sesweee buildings and flooding streets.

1) diminishing 2) demolishing 3) deterring 4) deriding

The boxer struck the actual blow after a feint attack which confused his ~—---v-~-- in the ring
1) contemporary 2) commander 3) opponent 4) boaster

Continental drift, which goes on 2ll of the time, is so slow that it seems «----r-eme to us; in
geologic terms, however, crucial changes are taking place.

1) negligible 2) essential 3) unforeseeable 4) distinct

When it came to the issue of redwood forests, Muir saw his ideas of preservaion ~--meem----
from those of business people who wanted to cut down the redwoeds for lumber.

1) prevented 2) removed 3) distracted 4) diverged

They had better not get married because their views are just not ~--eem-meem- each other.
1) implicit to 2) compatible with 3) curious about 4) injurious to

It was mandatory for everyone to sign the attendance register as soon as he entered the
office failing of which could lead to the --e-seeeoee-- of his service.

1) aggression 2) speculation 3) differentiation 4) suspension




PART B: Reading and Comprehension
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| Directions: Read the following passagés and decide which choice (1), (2), (3),
| or (4) best answers each question. -Then mark the correct choice on your

| answer sheet.

Passage 1:

As the Prophet showed us, when a non-Muslim passer-by said to him "poison on to you"
(al-sam 'alaika) pretending he was greeting him with "peace be onto you" (assalaamu 'alaika),
those who were present got very angry and emotional and were ready to act against him.
However, the Prophet taught them a good lesson of self-control and he gently replied: "and
onto you". This was a rational response to the provocation of an aggressor. The Qur'an
says: and when the foolish addresses them (with bad words) they reply back with words of
salam (peace), al-Furgan 25: 63.

Such an approach necessitates perfection of the art of dialogue and debate. I mean to
emphasize "perfection of the art of dialogue" here for a simple reason that in order for one to
engage in effective and productive dialogue with a non-Muslim, one needs to read extensively
to be well-equipped to know the strategies and tactics of those with whom he engages in
dialogue, especially if we know that dialogue according to the Prophet never means
compromising one's fundamentals and especially when we also know that the other party does
not just dialogue but they dialogue based on a strategy of the word mind game for which they

have been highly equipped.

71- What does the word “him” in paragraph 1 refer to?
1) non-Muslim 2) passer-by 3) Prophet 4) Prophet’s companion
73. The lesson to be learned from the anecdote in paragraph 1 is that when a short-sighted
person makes you the object of verbal attack, you ---cemeememmmo- :
1) should retaliate immediately
2) are not to lose control over your logic
3) had better give a response as harsh as the attack itself
4) can use the opportunity to let rationality give way to emotions
73- The way the holy Prophet responded to the man whe said "poison on to you' {o him was
---------------- the quotation from the Qur'an at the end of paragraph 1.
1) the origin of 2) later narrated in 3) different from 4) compatible with
74- Tt is stated in paragraph 2 that when debating with a non-Muslim, 2 Muslign osmmmeemnen :
1) should already have practiced his line of argument
2) has to be familiar with how to use mid games to prevail over in the debate
3) must never forget that the Prophet never used the art of dialogue and debate
4) is to refrain from sacrificing his basic beliefs even if it really helps to convince the opponent
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What does the author mean by “the other party” (paragraph 2)?

1) One with whom one debates .

2) A political party engaging in a political campaign

3) A debater who is a genuine thinker, but never ready to use unfair debate tactics

4) One who is a professional debater, but willing only to engage in dialogue and debate on a
rational basis

Passage 2:

There are both historical and contemporary factors which would explain this
misconception of Islam within certain circles in the West. I suppose one should begin with the
fact that Islam occupied parts of Europe -- which had never happened to European civilization
before that. That was one of the factors.

Then you had the Crusades, which was Christendom trying to, I suppose, impose its will
upon the Middle East. And I use the term "Middle East" deliberately, because it was not just
imposing its will upon the Muslim population. And, some would argue, the Orthodox
Christians were also victims of that process. So it was basically western Christendom imposing
its will with the Crusades, and because it stretched over centuries and it ended in defeat for the
Christian princes. This, I think, had an impact on the psyche of Western civilization.

Then, of course, you had colonialism, which affected both sides and created a situation
where the antagonism became €ven more serious.

Now, after the colonial period, 1 think the major factor as being oil. The one commodity
which is most important to industrial civilization, Western industrial civilization, happens to
flow beneath the feet of Muslims, in the Arab world in particular. And 1 think the desire to
control this source of power, as it were, on the part of the West has heightened the antagonism
between Islam and the West.

Now today, you have Muslim communities living all over Burope. It's the Muslim that
constitutes "the other" in Europe on European soil today. Now there is also, I think,
complicated relations between the two civilizations. So you have all these factors which have
led to a certain misconception of Islam and Muslims in the West. But let me also add very
quickly that I find that, in the last decade or two, there have been some very sincere and serious
attempts to overcome the prejudices and antagonisms of the past.

What dees the passage mainly discuss?

1) The reasons why there is a misunderstanding of Islam in the West

2) A historical overview of the conflict between Islamic states and Christian ones

3) The effect of westerners’ bitter memories of their defeats in the Crusades on their
conception of Islam

4) An investigation of the role of the economic factors in shaping the mutual relationship
between the Islamic world and the westemn world :

Why is Middle East enclosed in guotation marks in paragraph 27

1) It was a safe haven for Muslims. :

2) It was the region under the Muslims’ control.

3) It emphasizes the fact that the imposition referred to in the passage was directed at

Christians as well as Muslims. ;

4) It was a place that western Christendom wanted to occupy to save the Christians living there.

Tt can be undersiood from the passage that colonialism --rmemmm=sams= ;

1) was the revenge westerns took on the Muslim world

2) actually aggravated a hostility that was alréady in existence

3) created a situation that made part of an alréady existing tension let up

4) was the root cause of the problem between Muslims and the Western world
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79 Which of the following best describes the way the information is organized in the passage?
1) The classification of a term into its parts  2) Chronological time order
3) Comparison and contrast 4) D¢finition of terms =~
80- What is the function of the last sentence of the passage, “But let me also add ....
antagonisms of the past,” in relation to the main point of the passage?
1) It relays some optimism. :
2) It disproves the main point. ;
3) 1t cautions against any misunderstanding of the events reported.
4) It warns against any unfounded optimism regarding the contemporary developments.

AT by

?M@ﬁ}%&n ') 6)5&&&:;@6‘;&5&& Osfs:) P's\S—A‘
Caxa gy e (F 4.3[.;';&,5(\" )'I)g_}.o)).gw&,.c(v ‘_s..oJ.c(\

fo4ls ﬁUd%cé)ﬁfgo)‘ﬁmww}i)éL@@LeWQM}TW@@@MJ{—AY

Fetis9a¥ 19w Ggu0 1 pl,TalT g wigdgo £ e ol glo Jlgus il 0g2bplaS aluol 53 ~ AT
fudg) (g0
4ig)ly i3 (¥ b (F g (V ;L

feawl plus” i D ¢ 59§ 4l 3B 40 AT
€295 9 pligol Jiild (nass bl camgo 135 sy oo 3 ay»
Sz e (F gl oadle (v hmazs 3l (Y Jrixg!

Fewaz (631) (oosadio by o5 1y dglio 4o Fhlos &y (S0 -AD
R s e
ool i o gty ol polis 5 (¥
sl e 6lo (S50 oaes slas (v
ol 5 o310 B sl asls , fus (8
Job 52 055 (o0 @0)g00 aslllan 4y GUT 5,55 G 2390 30 81331 09,8 Ky (g9, 19 4 (ol asiline — AS

§0 55 o sls8 L) csb plas 005 99 e0guh op dwy Lo @l o By soybo
SO stassy i, (¥ g O




sl 0 1) g R0l P (w18 45 U39S 39 ALdS J51.5(5355 g 3900yt a5 35 ~AY
Pl aid,; )5 4 Gy 57 glgil 31 S oS iy g0 ol 4y windign

=3ly ()

o Sbes (¥

ks (¥

sostie (€

fewwl plass 5Lyl Lol sk Bz Glanl g j8 —AA
09 7k o S Sga 50 by «San e ()
A8l o) 5 pasiie Wb «dos e (Y
a1 i 5l cols olal cdlanl (Y
Al b iy 6,5k 5,055 b b wdlanl (€

Foaal 10392 2 Y GOlT 51 Foaw 3y ¢ (630 Aigad g, plaS 15 -AQ
&l g ()
ool Solas (¥
ol adgs (¥
Gy aib (¢

53bed () Jlosot il oud 1555 a0 Ae Cis 4olS g 45 yo Do pdlod AolS ¢ alos Yoo o 1514

S awl ’ok\S ¢ dols 9o UJ'
) ) ) )
(¥ B 5 (v ot (v O
A W Yo A
Sl 438y 5" 4y (63 031051 ywlidio plas ¢ SRl az 30 bl 59 1o s glos ol 0 =)
oae (F ! alals (v S = ()

Fog o0 o3latul caslio gl Jlgu il g 4l pol 31 b 155 hins (g s s 51 Sy plas 5o =Y
Osy95 (F 1 ugo gy (¥ o35 (Y oS O
bl (lhe az lylo wab Gl aiuby glayl (sl (3T Ltuw yy —A
Sleadly b dnnlivo — il — S ()
Somibio = (091 (hoe — (g, (¥
80 — (hald aio il — > (Y

OO Sgldd — s wad - oy0gr 0,15 (F



&}Q@g@\}u‘;wga&mj_,-_ﬁ.‘m)sd.)_),ml_)q_)y‘ cwmﬁa\.;cozulm@u;‘uﬁh&um_)

f sl LT Slallan al o 38 (ygitn oLl (glo sl 3 KpolaS -4 F

Gebod @l 4 azgi ()

e Slo G350 4 azgs (F

WIS (g0 48y8 oS S a5 )BT Gl (¥
ot aiBlily o) Kamgsy BT ailes (P

31 ol @yl SLEST sl I Bus -4

Sz DYl Gy 5l 5 Gres Ol a2s™ ()
S Ylgw &b 5l iy oledlbl s (Y
Ul (s (omy 2 9 G2z 5l 4,y (¥
Geiod sl a8 sl g oyl 8l (F

P9 o0 JET (5507 4% U ol = (o9 ba 3 el Jio el 47

S5 pytio b godge Jof (1
> oold L):ﬁ?bu.o 9 ool (\'

b adlge g bo jasls (V

pbo ol as,s (F

ol gy dulyd o Ciledbl o als o @ bos o 393 0ylen 3 Sewlus -4Y
by oo Ul A.guT b oud oualive guli alic ()

b ars,d Gloo basly) (uyp (¥
peolio Gl ally) (o) (F
o Condly b oo ounline guls awglie (F
fawl plus’ ole gy a5 amw gla 00 15 —4A
5 i = (oled Joe pitle - 0l la w0
dolidins ;3 — odalie — dliao (¥
Sl Jolos — (g )k 5l = (el (o o s (Y
Sleadly b anliio — (23le — (s (F

To,10 (Jolds an udituw jud sudlive by pudies sualivo -89

08 (oo plonil azliae §y,b 5l bad pitue jué ovaline

Dy (g0 Djgeo ABT )0 o Cof Dlaaline 4y dazl e b puditons pé odnliue
el dobae Joal jgimd g ddbidin s onnliv 5l aiitus pé osalie o
sl dybae Joadl j9rns g anliiin )y sanlice Il pofiime o0l jo

Q!
4
(v
(f



VYV Asba S g el il 8 e laial il )l 5 K i 5 50 ) Cay 3a0e 6 puiidh dadls (gpalina oelainl i sla 43

Sl pluS fgizmn Judoxd ouos gy 00y =Yoo
ol — il — ¢l dsie O
Gl — 690 - Gy (¥
Soye — sl oylF — ol (F
sl dgita — (g il — (Ser (¥

b drls b 4 /L

Sl plaSe 3,418 (solidy Cnnd] (bl drals (gl a5 (gl (ole Gudixd by (S Cawgd| i 51 =)

duliie (F oanlie (Y & Stalesl (Y e
........... a5 Cowd 3ol ool 92 S ylo =Y

Sy gy Sl 095 31 Lo L8,i3 )5 o ol Slgs dem o ol (1
| ol el 59 3,15 W€y 395 3 Sl oo Jgy (¥
ABS ga &5 bl (Sigys S5 40 les gobuasil S8y 095 31 (T
il (Sl 395 31 5 ooy S (£

plas 48,5 415 3 (k] pamignS (3 JLET A 3o 31 gy T 3lo 45 1) 3l 9 oes gl 09 sl VoY

S Cowl
stlo5y3t 9 (HIogd ¢ (Sl € bl (¥ stlo ot 9 stloml ¢ (SHogtd ¢ Sl ()
1959 9 o 859 el ks (F tlssrm 9 (o 988 bl o Slansls (F

Sl (gl Arals az o i 7 4 « dildbgls (550> g € g bzl (500> o] S5 4 dz¥ U —VoF

b sz - o ST (Y o — g5z ()
AR LAY N S Sl

Sagls o0 395 olsmr 4% ) a5 90 4y 5 50 (Sl )l (Fumren —100
azadl> o8 oy giilon d925 ()

SEon i 4y Siwcdo Hlai 5l anl slasl glawoa (¥

oy Slgalas Jlas 599 (\”

&% sl ol Jlos 9929 (¥

Sl gl i dz 1 0S5 Jog3 45 50 ¢ (lodizrl (S 0uiiS s g )LS L Jolge Vo7
09,5 (siS 9 505 (V5 o ()

05,5 o5 (F 095 (&5 (F



YA dsia @A}Q@éﬁ&gbgu&hhlA‘_nLL:L'ﬁJlJn.g.h).i‘_g.)‘),mbt;uk»hc@iﬁ@‘;tw&u@@luﬁhs\bm‘)

5t 45 sl a0 Sy, Ahald G okivagd fag -1y
W5 (50 Cugli |y 50,8 goliT ()

WS o G |y Aol S 50 ol (Y

S (0 OF S olils lejd IS (s S (¥

Wl oo Sz & 1) dsal> Solaw wPFaS ) ez a8le (F

Tl (o0 11 9 uTlo (i dnaler B yr0 CSuolus’ <1 A
58 el b i o celainl it LS5 ()
mo@@g&u‘squm‘suéucﬁs@m@%s (¥
WS oo Bad 1) olaza! 6lay Ll plovadt 45 elozn! clo PECUEE
Sy Ly, g celoizl (slalisl wg oz 5 elazal Clils slo iSeas (f
Pl oog b Coasd plus sl e €yl cpalidh 299,67 =104
oSl = M= pusl ()
79 oSle — e Sy — (0508 (Y
- o ~CuS gl = s (¥
79 orSle= (o3l — S ST (F
W55 plendl 51954 015 1S brwg « elasal b uriads ISP 9« 3o by (Sl (315> 4o 3aLes 11
Tl
Jos @ez ()
2 Sb g (Y
gl Sy (Y
95 O e (F
2805 Sy Jgud 5590 45 1,858 slas ;Syg, 5 sl 438 lojles dsgazs wane a1 4o i 99 -1
fuiS" (o0 0Ll 500 Pl a0 .5 o
(MIND),25 ()
(SELF)sss (Y
MBypogs (T
B oe (¢

Pl 145 950 sl anolsr ol panlin 51 -1y
o)l 4 Bglasae 1S “5‘-’-“"‘-.‘“39-’4“&?—1; QO
(shlate jod 135y ilate s (Y
B 22 5 &) el (v
S (Son § (Sl Kran (F



14 dsdin i b lagls il S e laia) Lyl g K 8 53yl ) Sy e cphish dadls (ppaluan e lainl Juil sba 434

S b Shg 4z Gl)ls Fludl gla S -1y
1] Jasan — sol,)l — aalsT ()
ol i — e g Gloy sla Cudse b coskis — jlolime (¥
alss B e g ool — o bine (v

o) b i 8 e — a5 (¢

00,5 iy y27 olgF (50 AigS Wiz 44 |y oolaiz! ple (gu090 bl 5 -NF

S8 = ap LY

Oy 0,5 — s =0 (¥

s g gze — ezl

sleizl— o295 — 0
fusy AL 1599 § ©ygeo dw gladlo duw yo o g 45 ol praveEy pole yo0 3l (S P e asolz> 110
0,5

Oye by = (e — (w0 5

elaizl = a9, = 50 (7

ol - o - mgeinior (7

il — 05— o (%

? ool prazeas dullaio CaoSer s 3| SaelaS ~117
Sigh (g 355 5 Jormse sesols y900 by ol 5l ug S8 ()
Conl Gona g0 b Loy polis S el ¢ o O3l b anelzr g0l S 5 (¥
sl a o e 51 shor (53979 Olyie 4 asalr (7
a)bl.moLm.JlL“_goLzﬂ oS p Al (%

038, o gyl 4 b O ol 31 @le ol 4z 1Y
sy ey S yh Sy w5 gy (oo e ()
b psle 5 ssleirl pole padge Sglis cEls (¥
o cyiady i gy Slopus 38,5 o3l (¥

yosenn yobo & olazr Spdey 4 o2 JB

1 yoo plwdl ;K90 by (ool e yao ghol glds ~NA
OO Sxedgy ()
g y97e Allewe (F
S o g 30 8y (gole S yna s 0 e (F
wosa)lﬁojégé\ml)giﬁi?p.e‘é (f



Yo dadin &jo@g@ljf@la&mjJ&A}G;ﬂba&ucUHMML;.@mU:L@IJm‘;umJ

?MQ@Q,M@.:,S.&”@L\S—HQ
s C3U 4 gl | g0y Jlie by ()
> csbd 4 ele 1L ie el (v
S o5ed 4 sl (¥
shS o9eed 5 (F
Flumay i 39 1800 a6l 4 6 s O (30,5 jLaiel =Y
4oL (F ooyl (F sl (Y oled ()

ﬂ-& . lo

'oU Az éx&g’ &0 GE=S (JLwJ‘ oéb' 9 CM'}.”» L 9 Sl @L«w' )3,0' Q‘JT QLC,J,» 45 Gg'lb G’o.’i.md'é -7
?é)'é

ol (P lupgle (e pyle (¥ sl psle ()

Sl o Gl Sl 115 a4 dorgd by ooy ol 1YY
o gl ol LG 3o it L IS Slae 1 0 (1
55 gl (IS (sloo 5 L3S Sl oy |, 55 sleo)liS as (¥
255 bt conlie (52 (slao 53 5l s e |, IS loo)lis is (v
55 2l IS (oo 50l lie ] s wloo, 15 (F

fonnl plas e pfs 5bs o 45 pole dod aS’ iuls Jeol ¢ 55 gobisy —AYY
Conbly Jol (F cale Joal (¥ Lladll ol (¥ a5 Jol ()

Sl S ,o’..\f cﬂ.@ Cedond gda.u da))' -\Y¥

A0 el adlols (F csliy Gl (¥ Cadgazes (Y Sz
fonal 6503 425 pole § dbunds bl glis (g iey (e Ly -1T0
ez (F 0 olegoga (v Flaa (Vg 9 050 ()

........... SESN T SRV RTIRTS

) 28 Lol pale by (¥ )l bl g pole 1 ()

ol Jobo LLs | pole L(F o)l S et ple ay o (¥

few! plas cole Gy dasiio dzg -7V
Codly b ooy lae cilla (Y L olej den ;0 oy lato olis | glial ()
€329 5l Jyormo s (Mo & 3 (5,0 ly; (F 9550 Sl Jgazeo Sl 4y o (1




Y)Y dais @A}Q@ﬁuﬁglﬂ@%'&&l_i)|J&A}@JJ@U@J&.\A ol dadla ppalina oo laial il gla 4id

feawl plus’ of piswl b a5 ol &glas —9YA
UT ,_g).n.\.: Ju::.;' (‘f UT éﬂ)lf 4.».4]0( i ‘_;9} U»LS )l ooLo.....»! (Y UT ‘.5)?‘9\-: ug.o)T (\

145 ol 1l b 539 o b e guign Sl cogli5 14

S late slaiel 540 (Y gl (o0 08 ol il 51 ()

il Ja b Sl BB (8 g o e plaie 0 0 (Y

f0,1 pU 4 €010 0929 cldghinn (gl ooty ) pue L Lyl a5 sBays ol 1Y
S Hdsn (F IS o Sbne (VoS S ()

S &l L5 5 paplie

fenl B iy iy po5' (Lol sl 51 55 8 e 51 Kolus =11}
0iyS g o b (S56 alal, — (508 5 5 slo o5, ()
NS g okt clazal alal, — (5,0 < sla bl (Y
05 9 ot yd (K458 alal, - S3edessS  lojls sl Sy (T
0y g ouitind selatal ala, - So3aleiss 5 ilojl sla Sy (¢

Sanl «lyzb> bl wulys s Jow ¢ Ll 39 31 Solas’ 29 0l 38 (6 38y -ITY
el Joalf il Jas® arg JouT s Jae (O

flanas B by Signn 4y 115 slio g 310, 45,5 —IFY
38 95U p9la5 (sl LS55l 5 Y (6o 0ged sl JIH islgion 595 4 S50 = gl ()
30 955 pglas slaylSg3Ls 5 IV (6l 05t wisler SIS s3elgion] 55 4 Soaie - gl 5 (Y
Sl AT (g5algsunl bl 9 @olamdl ouiiS s Lalge o Sooi - il 5 (7
)10 95T (Salsinl il g golatl ouisS (s ulge 4, g3 — gl (£

9 Pl S pidin gl ofy 3y 4o asly €o0gi» JoSid 50 4 b dilwy comnl b 4y 145 51 Senolus’ 3 =1YF
Tl o319 41 ¢y, S5
eys clls w Ll ()

)8 oy ol 4y a5 (Y
Jlg 0055 dsalz 4y lai (Y
e @S0, a4,k (F



(S g (Stly ()

Sy yid 9 sy JS (Y
Sl coeS g czod (¥
Al culS g cutes (€

laolay g, alises gloil b Glojbu (y9 e 5o TN G
ol Ual calizes gloil b glojlo 9,8 50 ailu, adail, (¥
OBuiS 4y g oo ol idie b ailus, ala, (V

(SS9 g (5 (sl iyt b Al ala] (¢

analz (sl 0,515 9 053 5yl olsS (ppzees lyzma ()
2o blie g (o5 G )op @ype (F

5295 ol g kS 6yl g (T

ol olaslas g 3l sl oS geen lyme (&

LG g 85l oS5 ¢ gSenli ¢ ol (5 ()
Ml g 5l S5 (e ¢ ol (S (¥
008 il 9 (SS9 ¢ g gpilasl (¥

3992 il g SiSTl o gmatlosbus s (£

olatatdaina o S ATl el (h il DU SRR S R L (Y
e CJU@L»J)‘ (gD a.\Alf_\{’ = e Baa e le)." Lo d-;lﬂ)l) ‘;‘)L{ (Y'
e DAL it b ot elitetn YRR b (Y

¢l s dilasy 85k 3yl sl yluno 9 Jool 31 Samalas’ 178

Sl S il celoxz! slog s oo 30 U dilury Gl Glagdled 1 13 bl 31 Sualas’ —A¥'F

094 o0 ploil (Sud dz b Cdly o — Jlwyl ezl 3o b dilw) (gletisen (o) -ITY

————— 6 (S 5 ailwy olblia LD 50 0057 paddn 3l soady (yasmed ylwbicd dnele Cadlo 5 ~1TA
fo 00 waSU

2o bl 4l wilalllan 0 cod 35 4« b dilwy @yud» g« b ailuy 236 > gdlkuol 9 3 Sguale ~174

fCamas



YY 4sia 5 b il il S o Ll ol g Sin b (g3 yaml )y jpda ¢l dnals cppabiaa oo lain il (gla 405

9 ook dulr Ky Kb yd  SLeMb] (razr dlo g o 3 45 (Bl CasBpo g Sldag) (1 (i -1F
1 ol @yl 938" g0 Ly S yd Jo27 5 solasirl Comlins 50 1y D55 ikl 9 95 (g0 Bl

(soya 00iiS Sl - geges oditw b (bl oy, ()

(ogos 00S Ll 0 - gages oatiuyd bl )l Slay, 4

(o35 0SSl 10 = popas oitunyd ol f olgg, (T

oo 8855 il 8~ e oazisd (bl | Sy, (8

W18 o0 € (SIS 2 310 5oy g 5w 3l (59 1) ailuy oS -1F)
(s € SuSls b il j HouS jekitn
eidmails) slyize et § Slajist sbine 4SSz 5 O
Wi oo Hladl (gt g iy sladils, (F
gl oo sl sleadly 5| eleszl Laly) ooz 4 e ladil, (Y

g o andly 5| selaiz] baly) (2l o aails, (F

st S g o) & 35w (1)1 SBLI 5! Slayglid cpmia] ol 51 -1FY
Tyl 6y Sloj (5 S 13 Gl pIUT (59 ST Gub
oud S (sloSKon(t aels(y gl (¥ capal ()
Sl 498 o )7 &1 (CALLISE) (g y00 golgzr 5o BN E95 9 B0 cyigd o sd bl o —IFY
et = (s ()
03 fimad — 3uee (¥
Gy — 0dywS (¥
oduztiw — gdaw (F
Sl 48,5 JSb 1l 4 oliol 2 €Ll Glaoly 73U > (sl 13 -ITF
syl Gl ()
sHaalss g ol e (7
szl iy, (7
M—Iow_l aiuds (€
a5 (521 T3S g0 AT (glailiny w15 0 Sl azr s 2 LSl glale 0 90 Ol a5 -1F0
Sl o0 sloud @y gl b yl5 51 dsws plas <52
ko338 Shyudls il 1S ()
Sgaze Ol (6,58 Gl (Y
e b il Glpse (T
sgazme Sl iy lble (%



Fuml a0 1 dily cosdbo g J 505 gog20 4 dilu; slady L 51 Sy plus —)FF

bl (sl 4,15 (I

. il ks (Y

. Sl 4 da (V
SgS g ybo ks (€

T 55 37 4y WS g0 oolld5 p5us 5 v 53 41 S arggoliow 3o pas yygucd oy ouie 4y —1FY
folo cd¥s iz 4z 1 loyshanl g S

el o 4l 25 ol O

S (g gl dnal o &Sl Ll -anilyd a5l Gl (Y

2ol 095 5l 5y el o Sl sl b i 4 plsol
sl 2 4 ol il (g psbbeal opS (8

S el aiS g0 pilid g e 55 1) 5Ll asLd gy ol 1 18 S0 Sunols oS5 1 -1F A
Sk (2L gy 01l 932 315 (gloasy 35

S 95 9 preeadgeS b o)k = 5l 50 | pO0 pyos (soaiules (i ()
g7 9 By pre Slpmard — geloial g ledl (gles) (Y

Oy — D ygla (Y

S oS ol pliaalyo - 5l 55 LS8 b S it pdlie i (F

Fab3(on 518 dhom 8,90 5 Sl 0038 ot ;3 698 cumms 4z &y Cadly 30 4y 15 -179

<o U wdgs alasd 5l liblse i ay g2gig ()
Oleblice g lymome 51 €406 ailsy Coresl a4 pzgie (¥
pione 15,65 S8 19 83934l 485 s g ot (T
il slos 5,555 4y pzrgi o (%

fewl 009 az « Fledbl dole» sl 000 4 51 b Judls jeliie —10-
el 00y Sl sl )l g0l yoeie 4 dilw, 63909555 Vg ais ()
Lol (55l gl )5 analz len Ml anol> (¥
ool (AL g 2l anel Jilis o Sl anol> (€




